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3.

1.

a b Ut
X =(+h)cosj cosl
Y =(n+h)cosj sinl
Z =((1-e*n+h)sin;

] n=all- ésirtj)®

e =(a’-b?)/a*=2f- f*?

h GPS
Q)

WGS84 N -100 +60

X Y Z
j =tg {(Z+ensinj )/(X*+Y*)*]

| =tg*r /X)
h=Xsecl secj -n

3.2

A A>0

Xoew =X gg = A

new

X, = X + A

Xs Xt A

1

EPSG 9616

EPSG

h h=H+

1999



3.

Xt=Xs+A
X, =[(X*Ug) +(A*U )I* (M)

Xt=
Xs=
A
m m=1 m=-1
Us Ut Ua
2 EPSG 9603
dX dY dz
X, =X+ dXx
Y, =Y, +dY
Z =7+ dz
2.1
WGS84 GPS
] s =53°4833.82"'N
I . =2°07'46.38"E
h, =73.0m
ED50 International 1924 WGS84
ED50 dX =+84.87m dY =+96.49m dZ =+116.95m
WGS84
X, =3771793.9/m
Y, =140253.34m
Z, =5124304.35m
ED50
X, =3771793.97 +84.87 = 3771878.84m
Y, =140253.34 + 96.49 =140349.83m
Z, =5124304.35+116.95 = 5124421.30m
2

ED50



j , =53°48'36.565"N
|, =2°07'51.477"E
h =28.02m
International 1924

M olodenski
Molodenski

jo=istd
|, =1 +dl
h =h, +dh

dj "=(-dX.sinj .cosl - dY.sinj .sinl +dZ.cos] +[adf + f.da].sinZ )/(r .sinl")
dl "=(-dX.sinl +dY.cosl )/(n.cosj .sinl")
dh = dX.cosj .cosl +dY.cosj .sinl +dZ.sinj +(adf + f.da).sin’j - da

dX dy dz

r ] r =a(l- €%)/(1- ésirtj )*?
n ] n =al(l- €sin?j )"?

da da=g- a

df df = f - £.=1(1 f)- U £)
di dl I

WGS84 GPS
] =53°4833.82'N
|, =2°07'46.38"E

h, =73.0m
ED50 International 1924
WGS34 ED50
dX = +84.87m
dY = +96.49m

dZ = +116.95m



WGS 1984 a = 6378137.0 Vf = 298.2572236
International 1924 a = 6378388.0 1t = 297.0

da = 6378137 - 6378388 = -251
df = 0.003352811 — 0.003367003 = -1.41927E-05

dj =2545"
dl =5.097"
dh =-44.98m
ED50 International 1924

j , =53°48'36.565" N
|, =2°07'51.477"E

ht:28.02m
3.4 Hemert
7 Helmert
7 - Bursa-Wolf
X, 1 el -R, +R o éXsu édXy
8, U_nr +C R k& 0, 80
R AL g
TH 'R( +Rx 1@8258 gng
Xs Ys Zs Xt Yt Zt
“ " EPSG
9606 1AG 1S0
19111
dXx,dy,dz
Rx, Ry, Rz
z
M

M = (1 + dS*10°) ds ppm



2.1
WGS72 WGS84
dX =0.000 m
dY =0.000 m
dZ=+45m
Rx = 0.000"
Ry = 0.000"
Rz = +0.554"
ds = +0.219 ppm

WGS72

j s =55°0000"N
| ¢ =4°0000"E
hy =0m

X =3657660.66m
Y5 = 255768.55m
Z,=5201382.11m

X, = 3657660.78m
Y, =255778.43m
Z_ =5201387.75m

WGS84

j ; =55°00'00.090"N

| . = 4°00'00.554"E

h. = +3.22m

EPSG 9607
eXTu el +R RYO éxXsu equ
& U_pg € &, 0,8
&Y 4=M éRZ 1 AR
& ¢ +R - Ry 1gEZsH gdz g

dX,dy,dz

, Rz



M
M = (1 + dS*10°) ds
dX =0.000 m
dY =0.000 m
dZ=+45m
Rx = 0.000"
Ry = 0.000"
Rz = -0.554"
ds = +0.219 ppm
1SO 19111
3.5 - M olodenski-Badekas
Helmert
ex;u el +R, -R 0o éXs- X,u é
a0 c S A 0 e
& G=M*ER, 1 AR FEe- Yo g+8
TH §+R( 'Rx 1b§ZS'ZPH
dx,dy,dz
Rx, Ry, Rz
Z
Xp, YP, ZP

X

[e o x g enly ey en?

o

ppm

+
RO
=<

X

N
s oY e e e

1AG



4.

4.

1

1.

M = (1 +dS*10°)

1SO 19111

1

ds

1S0 19111

X Ys

ppm

Mol odenski- Badekas

6.3*10°

EPSG

-10 10

X TO YTO

6*10"

6*10°



Xs - Xso XT - XTO
Ys' Yso YT - YTO

U= ms"(xs' Xso)

V:rTE)(YS_YSO)
Xs Ys
Xe Yo
113
u v An Bn
dX dYy my

modX= A+ A +AXN +A X2+ AN N + A N2

+A U HA U+ A N+ AN

AU+ A DUBR+ALUZRNZ + AU X+ A,V

AU HADUTN +A DUBNZ +ADUZNZ + AUV +A N

AU AU + A DU SN2 +A U VE +A KIZN AU N +A, N
tot Ay, WP

m.>dY= B+ BXU +B, ¥ +B %+ B Y W + B V?

+B, X% +B, W/ +B U W2+ ByW/?

+B, U+ B U +B, U +B, U X+ B, W

+B WU +B U W +B, U W2 +B, X UZ W2 +B U W +B,  V°

+B, ) +B, U SN +B, U “ V2 +B,, 3N +B, (2N +B, U ¥° +B,, ¥/
+.+ B, W

dX dYy

EPSG Aumvn  Bumvn m U n
Al7 Au3v2



(X1 = Xpg) =(Xg - Xgp) +dX
(Y - Yro) = (Ys - Ygo) +dY

X; =Xg - X g +Xp +dX
Y, =Y Yg +Yy, +dY

Xt Yt
Xs Ys
Xo Yg
X10 Yo
dX dy
6 EPSG 9648
TM75 ETRS89
X0 Xg =] g0 =53°30'00.000" N = +53.5°
YO Y, =|g, =7°42'00.000"W =-7.7°
X0  X;o=] 10 =53°30'00.000" N =+53.5°
YO Y;,=I;,=7°42'00.000"W =-7.7°
Ms= 0.1
mr= 3600
AO = 0.763 Al = -4.487 A24 = -265.898
B0 =-2.810 Bl = -0.341 B24 = -853.950
TM75

J w75 = X =55°00'00" N = +55.000°
I s =Ys =6°30'00"W = - 6.500°

Xs- Xg =J mrs- ] s =55.0- 535=15°
Yo- Yoo =l s | g =-6.6- (- 7.7)=1.2°

U=mXXs- X)) =M X[ 1y -] ) =0.1%(1.5)=0.15
V=myx(Ys- Yoo) = Mg Xl 75 - | 59) =0.1%(1.2) =0.12

dX = (A + AU +..+ A UNV®) K

dX ={0.763+ (- 4.487*0.15) +... +( - 265.898*0.15° *0.12°)} /3600 = 0.00003046°



dY =B, +BpU +..+B,U %) /K,
dY ={- 2.81+ (- 0.341*0.12) +...+ (- 853.95*0.12° *0.12°) } / 3600 = - 0.00094799°

j emess = X¢ = X g +dX =55.0+0.00003046 = 55°00'10.9656" N
| errsso = Yo = Ys +dY =-6.6- 0.00094799 = 6°30'03.4128" W

4.1.2
1
2
EPSG “n
1
2
3
4 dX dy
1
Xso= X10=Xo Yso=Y70=Yo
2 Ms= My=m
1 2 3 dX dy
dX dy
dx dvy
ED50 ED87
1 2 ED50 EDS87
2 = 10° 3 55 N 0° E 4

dXx
dy 10°



» »10°°

EPSG

4 EPSG 9651
(D) ED50 ED87

Xo =] o =55°00'00.000" N =+55°
Y, =1, =0°00'00.000" E =+0°

m= 1.0
A0 = -5,56098E-06 Al = -1.55391E-06 Al4 = -4.01383E-09
BO = +1.48944E-05 B1 = +2.68191E-05 B14 = +7.62236E-09

ED50

j eoso = Xg =52°30'30" N = +52.508333333°
| e =Yg =2°E =42°

U=mxXs- X,) =M} cos- | o) =1.0*(52.508333333- 55.0) = - 2.491666667°
V=mxY,-Y,)=mxl oo - | ) =1.0%(2.0- 0.0)=2°

dX = (A +AXU+...+A, V) /K,
=[- 5.56098E - 06 + (- 1.55391E - 06* - 2.491666667) +...+ (- 4.01383E - 09* 2.0 U4)]/1.0
= - 3.12958E - 06°

dY =B, +BxU+..+B, ")/ K,
= [+1.48944E - 05+ (2.68191F - 05* - 2.491666667) + ...+ (7.62236E - 09* 2.0 U4)]/1.0
= +9.80126E - 06°

i com = Xy =X +dX =52.508333333- 3.12958E - 06= 52°30'29.9887" N
| o =Y, =Y, +dY = 2°00'00.0353" E



) ED87 ED50
1 4 A0 Al4 B0 B4

X, =] ,=55°00'00.000" N =+55°
Y, =1, =0°00'00.000"E =+0°

m=1.0
A0 = +5.56098E-06 Al = +1.55391E-06 Al4 = +4.01383E-09
BO = -1.48944E-05 B1 = -2.68191E-05 B14 = -7.62236E-09

ED50

| copr = X =52°30'29.9887" N = +52.5083301944°
| e = Ys =2°00'00.0353" E = +2.0000098055°

U =1.0*(52.5083301944 - 55.0) = - 2.4916698056°
V =1.0*(2.0000098055- 0.0) = 2.0000098055°

dX = (A + AU +..+ A, V) /K
= [+5.56098E - 06 +(1.55391E - 06* - 2.4916698056) + ... + (4.01383E - 09* 2.0000098055U 4)]/1.0
=3.12957E - 06°

dY =B, +B U +...+B,¥*)/ K,
=[- 1.48944E - 05+ (- 2.68191F - 05* - 2.4916698056) + ... +( - 7.62236E - 09* 2.0000098055 U4)]/:
=-9.80124E - 06°

| oo = X =X +dX =52.5083301944 + 3.12957E - 06= 52°30'30.000" N
| o =Y, =Y, +dY = 2°00'00.000" E



4.1.3

3

My {(dX +50Y)= (A +ixA)XU +i %) +(A +i XA) (U +i V)’

A HDA)U +I V) + (A +DA)U +iV)*

U=mxXs- Xg)
V=mx(Ys- Yy)

ms mr

4 Amersfoort / RD  ED50/ UTM

M oUXU_6HA- A+A-A+A A +A AT

u

EnodYl EHA +A A A +A +A +A +A ]

X;=Xg =X g +X +dX
Y, =Y Yg +Yy, +dY

Xt Yq
Xs Ys
Xo Yg
Xt Yo

2_\y2
20V
2J3-3JV2
TR

dUt - U2V
CAU - V3

('D>8)CD) )%

[eniy eny ey en Y e enlY enY eny en Y end

s
s
s

o\ C



4 EPSG 9653
“ Amersfoort / RD New” “ ED50/UTM zone 31N”

Xs 155000.000
Yo 463000.000
X0 663395.607
Yo 5781194.380
Mg 10°
my 1.0

Al Al -51.681

A2 A2 +3290.525

A3 A3 +20.172

Ad Ad +1.133

A5 A5 +2.075

A6 A6 +0.251

A7 A7 +0.075

A8 A8 -0.012

X amerstoort/rRD = Xs= 200000.00 m
Y amersioort/rD = Ys= 500000.00 m

U=mxXs- Xg) =(200000- 155000)30 ° = 0.45
V =m xYs- Yq) = (500000- 463000)x0°° =0.37

dx =
dy =

-1240.050 /1.0
1468.748 /1.0

X epsosutmar = X1 = Xs = Xg + Xyo + dX

Y epso/utmat = YT

= 200000 — 155000 + 663395.607 +

= 707155.557 m

=Ys-Yg + Yy +dY
= 500000 — 463000 + 5781194.380 + 1468.748
= 5819663.128 m

— 1240.050




4.1.4 EPSG 9617

Madrid 1870 1870
1860 Madrid El Servicio Geografico del Ejército
Madrid 1870  ED50 1950

Madrid 1870  ED50

dj ( )=AF(A*] ) +H(AMT I+ (AT H)
dl ( )=Byp +B +(B %] ) +(B*15) +(B* Hy)

j. .  Madid1870

Hs
Boo Madrid Greenwich
Boo
J o =] M1870(M) +dj
| epso =1 M 1870(M) +dl
Madrid 1870
j ¢ =42°38'52.77" N = +42.647992°
| ¢ =3°39'34.57" E(Madrid) = +3.659603°(Madrid)
Hs=0m
A0 = 11.328779 B0OO = -13276.58
Al = -0.1674 BO = 2.5079425
A2 = -0.03852 B1 = 0.8352
A3 = 0.0000379 B2 = -0.00864
B3 = -0.0000038
dj =+4.05"

] o =42°38'52.77"N +4.05" =42°38'56.82" N
dl =-13270.54" = -3°41'10.54"
| cpso =3°39'34.57"E - 3°41'10.54" = 0°01'35.97"(Greenwich)

Struve



4.2

EPSG
4.2.1 EPSG
CAD GIS
X U_6AU A A5 EXD
_¢ 0
& 6 8Bl &B B,y &% 4

X = A+ AXXg+ A XY
Y =Byt B xXs+ B, XY

Xt Yr P
Xs Ys P
D=AB,- AxB

A =(AB,- B,xA)/D
B,'=(B*A- AXB)/D

A'=+B,/D
A'=-AID
B'=-B/D

B,’=+A/D

9624

4.1

“ rubber sheeting”



4.2.2 EPSG 9623

k|
a
gk
[
Y N 3"
Yo ----------------“I
1
L‘;{A'ﬂh\}?ﬂx‘;{fh I:-\‘.'H.I: \lw:l :'f |
|
|
| |
' l
FARR B | | .
# (0.0) I I X -axis
. -
Xrg Xop
9
Xs Vs
Xip = X1 +Yg %6iNQ, + X, XC0SQ,
Y =Yro+ Ygr XC0S0, - Xgp 6Ny
dSx dSy

‘K ‘K" “ Ko



X Yip X Yoo

X = X + X XS, xcosq, + Y XK >dS »sing,
Y: =Y, - X XkxdS xang, +Y; Xk >dS, xcosg,

0 , 28C0Sa sng, 6, ak>dS, 0 6,80
o5 &sing, cos 5§ O kodSp &Y, 5

4.2.1
A = Xqo
A =kxdS, *cosq,
A =kxdS, *sing,
B, = Yo
B, =-k>dS, *sinq,
B, = k>dS, *cosq,

aXs0_ 1  a8/dS, 0 o ,ao0sq, - sing, 6, & - XTOO
gYs ﬂ k>D g 0 UdSvB 8squ CosqxﬂgYT YTo ﬂ

D = cos(@y - av)

Xs :[(XT - XTO) *0sqy - (YT 'YTo)@an]/[kijx >COS(C|X - qv)]
Ys =[(X5 - Xgo)8inqy +(Y; - Yro)>c0sq, [/[k >dS, xcos(qy - oy )]



4.2.3 EPSG 9622

0 x:e Y:e

c_)_a@(To('?Jraecosq sinq c_')*aéodsx 0 (‘_j*aé(st_')
gYTb eTobg'Sinq COSCII.ag 0 k>dsfngsé

X; = Xqp + XXk xS, >cosq + Y Xk >dS, »sing
Y; =Y, - X XkxdS, sing + Y Xk >xdS, xcosq

X0 Yo
dsx dSy



4.2.4 EPSG 9621

dSx=dS, =dS

Y, - axis

i ] ]} ——————————————

o

HrA T R =

(0.0

10

Xip = X150 +Yg 26iNQ+ Xg XCOSQ
Yoo = Yo+ Yo XC0SQ - Xg >8iNQ

X Y Xsp Yo P

X: = X0+ X xdSxcosq +Y, 2dSsing
Y; =Y, - XgxdS>x8nq +Yg >dS>cosq

@(nggmﬂ (1+dg)x 24 SN 2*?;:53
et g eo g g-smq COSQ g e¥s g
X1o Y10

ds



Al=B2 A2=-Bl

ds 1
1/ 1+dS = 1-dS
X10' Y1o'
1
2
3
1

Astra Minas Grid
Campo Inchauspe / Argentina 2

Astra Minas Grid
X
Y

Campo Inchauspe / Argentina 2
X

Y

+0



AsraMinasGrid X Y Campo Inchauspe/ Argentina2 Y X

Xs = AstraMinas X

Ys=AsraMinasY

Xt = Campo Inchauspe / Argentina2 Y
Y+ = Campo Inchauspe / Argentina 2 X

X0 = 2610200.48 m

Yo = 4905282.73 m

6 =271° 05 30"

k=0 1+k =10

Astra Minas X =10000m Y = 50000 m
Xs = AstraMinas X = 10000
Ys=AsraMinasY = 50000

- 2 Y =X; =Xq+ XgxdSxcosq + Y, 2dS>sing

= 2610200.48 + 50000*1.0*cos 271.0916667° + 10000*1.0*sin 271.0916667°
= 2601154.90 m

- 2 X =Y, =Y, - XgxdSssing + Y, *dS>cosq

=4905282.73 - 50000*1.0*sin 271.0916667° + 10000*1.0*cos 271.0916667°
= 4955464.17 m

3 I 25 [ 125
WGS84 /UTM Zone 31N
E =456781.0 N =5836723.0
0.99984
I J 110° 20°
+20°

X0 =456781.0m
Y10 = 5836723.0 m
dSx =25

dSy =125

k = 0.99984

6 =+20°



=300 J=247
X: = =X+ X XS, xcosq +Y Xk >dS, >sing = 464855.62m
Y: = =Y - X XKxdS, x6ing +Yg Xk >dS, >cosg =5837055.90m

Xg =[(X; - X10)%08a,) - (¥ - Y;,)>sing, )]/[k>dS, >cos(a, - 6)] =230
Yo =X, - Xr0) NG, ) +(Y; - Y;,) c0sa, )]/[k>dS, »cos(@, - 6,)] =162

EPSG 1995-2004



